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Precalculus with Limits
Period

Test Practice
Analytic Trig

Find the exact value of each expression.
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9. Does tan[arctan(2)] = 2? Why or why not? _
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Find the exéct value of the following.
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10. sin”? (sin (%)) 11. tan (c:os‘1 (— 3})) 12. sin[tan™*(=1)]
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16. tan (cos‘l (— %))
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Write the algebraic expressions of the following.

17. sin(arccos (3x)) = S | -9)" W - 18. —csc?(cot™H(x))
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19. sin[tan™(x)]
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23. Show that sin™! x = cos™* V1 — x?



24. Given that f(x) = cos(x), show that ————f(xm})l_f ® = cosx (COS: _1) —sinx (5'—;:—")
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Prove the following.
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29. Prove the identity.
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Solve the following equations on the interval [0, 2).

30. sin(2x) =§ 31, 2sinx +vV3 =0

32. cos(2x) +3 =5cosx (hint: cos(2x) = . {
cos(x +x)) b= 2
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36. Solve using the graphing calculator.

19x + 8cosx = 2 \ X:” 7(9(;7-7



